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B. Sc. ISSEMESTER [MAIN] EXAMINATION
FEBRUARY - 2022
COMPUTER SCIENCE
[Major Subject]

[Computer System Architecture]
[Max. Marks : 75] [Time : 3:00 Hrs.] [Min. Marks : 25]

Note : All THREE Sections are compulsory. Student should not write any thing on question paper.
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[Section - A]
This Section contains Multiple Choice/True-False/Fill in the blank Questions. Attempt
any 9 Questions. Each question carries 1 Mark.
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Q. 01 The value of radix in binary number system 1s -
a) 2 b) 8
o 10 d 1

Q. 02 Which of the followmng building block can be used to implement any
combinational logic circuit -

= & 9 o 91 fAfesT e fodt W wiftaved difore Ofbe @1 999

# IR BT B —
a) AND b) OR
¢) NAND d) None of these

Q. 03 Subtraction in computer is carried out by -

Py ¥ Hagae fbdd grRI fbar o g —

a) 1's complement b) 2's complement

¢) 3's complement d) 9's complement

Q. 04 The collection 8 bits is called as -
8 fac &1 Iz FeEaw 8 —
a) DByte b) Nibble
¢) Word d) Record

Q. 05 Which of the following 1s a group of bits that tells the computer to perform a
particular operation -
a) Accumulator b) Register
¢) Instruction code d) None of these
P.T.O.



Q. 06

Q. 07

Q. 08

Q. 09

Q. 10

=1 § 9 @i a1 fdey &1 g $FYe I SR WEH 31 & Tl
fafer svar @ -

a) TRR[IcR b) ITEI

¢) SN Bls d) SWRIad § I big a1

Which of the following is not considered as a peripheral device -

a) CPU b) Keyboard

¢) Monitor d) All of these

= % & @i a1 i fearsw i 2 —

a) AR b) ®ERE

¢) HHIeY d) SudEd T

Which of the following computer register affects the result of computation ?
a) Accumulator b) Instruction pointer

¢) Storage register d) None of these

=1 & 4 P9 AT ger ITRER PRI @ Rojed &l |UfEd =l 8 —
a) URR[eIc3 b) ICAH Uls<?

¢) WRul ez d) SWRIad § I dig a1

Which of the following is the operation executed on data stored in register ?
a) Byte operation b) Bit operation

¢) Macro operation d) Micro operation

=1 & 4 P AT SiTueE Yoer W SIeT |R W UaNiiRe BT 8§ —

a) dlgc MU by fde sfRes

¢ HpI AT d) HISHI ATIRI

Computer address bus 1s -

a) Multidirectional b) Badirectional

¢) Umdirectional d) None of these

TR Ugd 99 Bl 8 —

a) agfeeii by fafeefy

o UP [l d) S 4 | B T8I

Which of the following is the circuit board on which chip and processors are
placed -

a) Master circuit b) Mother board

¢) Bigboard d) None of these

Cont. ...
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Q.11

Q. 12

Q.13

Q.14

Q. 15

fr=farfag & 9 &9 91 gfee 91 2 o9 u= Uy i g 3 o € —

a) e dis b) TN dle

¢ far s d) IWEd d 9 pIg &)

A set of micro mstructions for a single machine instruction 1s called -

a) Program b) Command

¢) Micro program d) Micro command

e RTel wef g agae @& fold AISshl SUgde ®1 Udh g dediil 8 —
a) Y b) ®HIUS

CIKIFEQRIRIC d) DT FATS

Which 1s the simplest method of implementing hardwired control unit ?
a) State table method b) Delay element method

¢) Sequence counter method d) Using circuits

gedRls dglicdl e Bl FFaPic B3 B g M fafe b9 |1 8 —
a) W< odd HUS b) oo veliic dus

¢ THadyg dre<s A0S d) dfbe &1 SUITT HID

Which one of the following has been developed a super computer project by
the Bhabha Atomic Research Center (BARC) -

a) Anupam b) Chips

¢) Flosolver mark d) Param

M1 RAI] U e gRT Ml § 4 f6d guv drgex uRAisrl
fawfaa &1 18 8 -

a) A b) feog

¢) Flosolver mark d U9

Who mtroduced Pentium family -

ufeay yRar 9 u= foaa oeanrr —
a) Intel b) Wipro
¢) CTS d) Samsung

Parallel computing projects of India are -

NG & Ul oISt Yiolded & —
a) Anupam b) Param

¢) Flosolver d) All of these SURIad T+
P.T.O.
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[Section - B]

This section contains Short Answer Type Questions. Attempt any 4 Questions (200 words
each). Each question carries 9 Marks.
39 ©os § dHSTNE U §| 318 4 U 50 &Y (J0F 200 G H) | UHE YA 9 ABI BT 8

Q.1

Q.5

Q.9

Convert the following -
=1 &1 uRafiad s —

D (1256)0=(2), i) (10110100)=(?)s
1) (11101),=(?)10 1) Ol)1g=(? )16

What 1s Flip flop ? Explain D flip flop.
frelg welfa @m BT 2 ? D fUalu welfa &1 99sisy |

Explain Instruction codes.

SCd9 BIg &l qUSSY |

Explain timing and control mn computer organization.

BFRCY MG | SSHT Ud Bgld Bl WEsy |

Explain Bus Transfer with example.

9 TP Bl Ia120 Jiad FHssY |

What are the differences between machine language and assembly language ?
Explain.
A3 fdsT Ud el s § 9T 3R 2 ? wweisd |

Explain program control.

YIITH bl Bl qHssY |

Explain general register organization.

STRe IoTeey RSO &l 99sisy |

Explain ANUPAM.
3UH Bl HHSSY |

Q. 10 What 1s USB Technology and who 1s the co-mventor of USB Technology.
qUHAT Th-ld FIT & U4 JUHE] qbildb Pl Pi—gd< B 2 |
Cont....
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[Section - C]

This section contains Long Answer Type Questions. Attempt any 2 Questions (500 words
each). Each question carries 15 Marks.
79 wre H dEee 9 2 &I 2 wF e &Y (UE 500 Il H) | ud W 15 Bl BT ¢

Q.11

Q.12

Q.13

Q.14

Q. 15a)

b)

Draw and simplify k-map for following expression -

M+ gy @ fold k-map &I 99110 UG O3l P —
FA,B,C,D)=X(0,1,2,5,8,9,10)

OR
Explain full adder in detail.

el TS bl fawiR 4 qwsisy |

Draw and explain block diagram of computer in detail.

PICY D Alh S Bl 91gd U4 [a&IR 4 o5 |

OR
Discuss Instruction cycles in detail.

ScdI Aigfbe I gdaf fawR 4 dIfor |

What do you mean by addressing mode ? Explain its types in detail.
TSR AT T B 8 ? 39D YPRI Bl fawR I THEnsy |

OR
Explain Arithmetic micro operations with examples.

efffed ATSHT TR B SR Gizd GU=Isy |

What 1s RISC ? Explain advantages and disadvantages of RISC.
RISC @7 8 ? RISC & o™ d I wwsisd |
OR

Explain Pipelining in detail.
ISy SISHT @l fae 3 awEsy |

What do you know about PARAM ? Explain.
WA B qR W 39 a1 S & ? HSS |

Write down the contributions of Dr. Vinod Khalsa to the computer society ?

ey gigadl | s fadie e & Jirerl & fofem ?

OR
What do you mean by CHIPS ? Explain its types.

CHIPS ¥ 27U &7 I9sid 2 ? $Hd YbRI &l G9ssy |
o
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